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A firm produces 3 products P,. P, and P, requiring
the mixup of three materials M, M, and M,. The per

unit requirement of each product for each material is
given below:

My My M;
Ee D 1 |P
s 3 1 1 |{P;
3 4 2P

Using Matrix method, find production of each product
if firm has 850, 1250 and 650 units of the three
materials respectively. Also find per unit cost of each
product, if cost per unit of three materials are Rs.5,
Rs.10 and Rs.12 per unit respectively.

OR

A firm has two machines M, and M, costing Rs.75000
and Rs.90000 respectively. Both have a life of 5 years
with scrap value being nil. Find depreciation of each

mahine for each year using matrix notations if
(i) Both are depreciated by Straight Line Method

(i) Both are depreciated by Sum of the year digits
method

Also find total depreciation of each year if first
machine is depreciated by straight line method
and second by sum of the year digits method.

(7)

1454 3

v W P, pzﬁzp3ﬁwwﬁaﬁwm%mﬁ
fore M, MzﬁM3ﬁqqﬁ%mﬂ -y
1 e e R 9 e g e e R e

3 & g ¥

M M M;

Bl apE
o s I S

1_4 _21%

iﬁﬂﬁ&wmﬁmmmmmw
afz o & T A gerdl w850, 1250 3R 650 TR
m%nwﬁmmﬁgﬁaﬁzmmw
afe 9 T @ U gafte @R w5 %, 10 T R 12

% Bl
et

o wh ® M, s M, e ¥ R A
75000 & 3R 90000 % 21 A = e 5 AW 2 aﬂtﬁ%q
mm%nq@ﬁwﬁwmma&g\amﬁ@ﬂﬁ\ﬁﬁ
-q:'r q;maﬂ%maaﬁmuﬁ

(i) aﬁﬁr@mmiﬂﬁﬁ:mmm%l

2 P.T.O.



1454
2. &)
(b)

4

Y TR T A w0 A e Al gy W

W T woE @l v Al gm 9 @l woadt 9 s
il we faftr s w2

The price function of a product is P = 100
e 159 Find the price and quantity which

maximises total revenue. Also find the maximised
revenue.

OR

The average cost function of a product is given
by AC(X) = X + 5+36/X, where X is the number
of units produced. Find the output for which AC
is increasing and the output for which AC is
decreasing with the increase in output. Also find

corresponding total cost function and the marginal
cost function. 4)

A monopilist price function is P = 300 - 5X. Find
the price and quantity where total revenue is
maximum. Also find price elasticity of demand
at this level.

OR

A company produces X units of a product. The
total cost TC and total revenue TR given by
equations TC = 100 + 0.015 X2 and TR = 3X.
Find how many items be produced to maximize
the profit and what is this profit? 4)
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(¢) The marginal cost functio
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-md the amount of Rs.5000 after 8§ years if
in

vested at 6% compounded semiannually for the

fir
S st 2 years, at 8% compounded quarterly for
€ next 3 years, and at 7% compounded

continuously thereafter

OR
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Mr. X deposits Rs.10,000 in a bank for 3 years.
Bank offers interest at the rate of 10% p.a.
compounded quarterly, 12% p.a. compounded
semi-annually and 13% p.a. compounded annually
for 3 years respectively. Find the balance after
3 years and total interest earned. (3)

A person has RS. 3000 to be deposited in a bank.
One bank offers 8% interest per annum
compounded half yearly, while another bank
offers 9% per annum compound annaully.
Calculate the returns in bothe the banks after 3
years. Which bank must be chosen no as to get

maximum returns after 3 years.
OR

If interest is compounded quarterly at 12% p.a.,
how much time is required for a sum of money
to double itself. (3)
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